


The information in this document is reviewed regularly and any
necessary changes will be incorporated in the next revision.
We welcome any suggestions for improvement.

This manual is for the exclusive use of Electronic Data Devices customers

and distributors. The reproduction, transmission or use of this document

or its contents is not permitted without the expressed written permission of
Electronic Data Devices.

January 2004

PO. Box 12128
Odessa, Texas 79768
USA

E-mail Website
rkw@eddevices.com www.eddevices.com

Phone Fax
432-366-8699 432-366-1106









Pressure Drop Curves

30
7 »
25 7/ / / 7
/ / /
/ / /
/ / /|
20 / / // // / °
/ / ~ // ye
/ / /
]5 / / / / // / //
el |/ / / // / / / °
o 7 Vad
10 Ay / 7 / / 7
/ / / / / / / Py [ ]
B . y y / A / 7 P17
g_j // / / // / / / / a : //
. 'I /17 / / / /
o /
2 / / /
n
& /
a 0.5 /? ‘. / / 4
0.3 / Vol /
/ 1 ol / /
0.2 ' 4
J 111)/2" 3"
o |2 /
4 /
[
i [) | 1 .,”
0.05 BE 0
0.01
0 0.5 1 5 10 15 50 100 250 500 1000 6000
Flow Rate - GPM
Electronic Data Devices |y rbine FlOW Meters
Phone Fax P.O. Box 12128 E-mail Website
432-366-8699 432-366-1106 Odessa, Texas 79768 rkw@eddevices.com www.eddevices.com

USA



Electronic Data Devices

Turbine Flow Meters

Standard Meter Repair Kits

Electronic Data Devices offers a broad line of turbine flow meter repair kits designed for our
meters and other popular brands. The kits are available for flow ranges of 0.3 to 5000

GPM and fit meter sizes of 3/8” to 10”.

Electronic Data Devices’ repair kits are manufactured to the highest quality standards. The re-
pair kits are manufactured of 316SS and CD4MCu for the rotors. Bearings are tungsten car-
bide and ceramic. The kits are calibrated in pulses per gallon for each kit, and may be used in
a wide range of applications including: oilfield waterflood, production, well servicing, pipe-
lines, mining, chemicals, food and beverage industry and most other liquid applications.

Repeatability: Within + 0.1% of indicated flow throughout the linear flow range.

Accuracy: Within + 1% of the reading Note: 3/8” + 2% of the reading.

P.O. Box 12128 * Phone ® Fax * Email * Website
Odessa, Texas 79768 432-366-8699 432-366-1106 rkw@eddevices.com www.eddevices.com
USA



KIT REMOVAL

1. REMOVE MAGNETIC PICKUP BY LOOSENING LOCK NUT
USING 3/4" THIN WALL SOCKET, THEN UNSCREW FROM
METER BODY. THIS PROCEDURE WILL HELP TO PREVENT
PICKUP DAMAGE DURING THE REPAIR PROCEDURE.

2. REMOVE SNAP RING FROM EACH END OF METER BODY,
USING PICK OR SCREWDRIVER.

3. REMOVE UPSTREAM AND DOWNSTREAM VANES, TAPPING
WITH SOFT ROD IF NECESSARY TO DRIVE OUT VANES.

4. REMOVE ROTOR FROM BODY.

5. CLEAN THE METER BODY BORE AS REQUIRED BRINGING
IT BACK TO A LIKE NEW CONDITION.

6. CLEAN SNAP RING GROQOVES TO ALLOW THE RING TO
PROPERLY SEAT.

MAGNETIC PICKUP

LOCK NUT

STAKE PIN - TYP.

Fax
432-366-1106

Phone

432-366-8699

P.O. Box 12128
Odessa, Texas

Electronic Data Devices
Elecironc Date Deves 3/ 8" thru 3" Meter Repair Kit Installation Instructions

KIT INSTALLATION

1. INSTALL DOWNSTREAM VANE SO ARROW ON VANE
CORRESPONDS WITH DIRECTIONAL ARROW ON THE METER BODY.
THE VANE BLADE WITH THE NOTCH GOES BETWEEN THE WELD
STAKE PINS.

2. INSTALL OUTER DOWNSTREAM SNAP RING.

3. INSTALL ROTOR BEING SURE THE ARROW IS PROPERLY ALIGNED,
AND THE SHAFT SEATED IN THE VANE BUSHING.

4. INSTALL UPSTREAM VANE, WITH NOTCHED VANE BLADE BETWEEN
WELD STAKE PINS. SPIN THE ROTOR TO ALLOW SHAFT TO EASILY
ENTER THE VANE BUSHING. DO NOT USE FORCE TO PUSH THE
VANE BEARING OVER THE ROTOR SHAFT.

5. INSTALL UPSTREAM OUTER SNAP RING.

6. MAKE SURE THE ROTOR SPINS FREELY BEFORE INSTALLING THE
METER.

7. ATTACH PLASTIC CALIBRATION TAG AROUND THE CONDUIT
HUB AND CUT OFF EXCESS STRAP LENGTH FLUSH WITH TAG.

8. INSTALL MAGNETIC PICKUP AS FOLLOWS: CLEAN PICKUP HUB
THREADS AND PICKUP THREADS AS NEEDED. SCREW IN THE PICKUP
BY HAND UNTIL IT BOTTOMS OUT, THEN BACK OFF 1/4 TURN AND
TIGHTEN LOCK NUT WITH 3/4" THIN WALL SOCKET.

CONDUIT HUB

METER BODY

SNAP RING GROOVE - TYP.

\ \ SNAP RING - TYP.
UPSTREAM VANE

BUSHING

ROTOR AND SHAFT

DOWNSTREAM VANE

NOTCH & FLOW ARROW

Website
www.eddevices.com

E-mail
rkw@eddevices.com
79768

USA



Electronic Data Devices

Elecironc Dare eves 4" & Up Meter Repair Kit Installation Instructions

KIT REMOVAL

1. REMOVE MAGNETIC PICKUP BY LOOSENING LOCK NUT
USING 3/4" THIN WALL SOCKET, THEN UNSCREW FROM
METER BODY. THIS PROCEDURE WILL HELP TO PREVENT
PICKUP DAMAGE DURING THE REPAIR PROCEDURE.

2. REMOVE SNAP RING FROM EACH END OF METER BODY,
USING PICK OR SCREWDRIVER.

3. REMOVE UPSTREAM AND DOWNSTREAM VANES, TAPPING
WITH SOFT ROD IF NECESSARY TO DRIVE OUT VANES.

4. REMOVE INNER SNAP RINGS AND ROTOR FROM BODY.
5. CLEAN THE METER BODY BORE AS REQUIRED BRINGING IT
BACK TO A LIKE NEW CONDITION.

6. CLEAN SNAP RING GROOVES TO ALLOW THE RING TO
PROPERLY SEAT.

MAGNETIC PICKUP

LOCK NUT

CONDUIT HUB

METER BODY

SNAP RING - TYP.

Fax
432-366-1106

Phone

432-366-8699

DOWNSTREAM VANE
NOTCH & FLOW ARROW

P.O. Box 12128
Odessa, Texas

KIT INSTALLATION

1. INSTALL DOWNSTREAM INNER SNAP RING.

2. INSTALL DOWNSTREAM VANE SO ARROW ON VANE
CORRESPONDS WITH DIRECTIONAL ARROW ON THE METER
BODY. THE VANE BLADE WITH THE NOTCH GOES BETWEEN
THE WELD STAKE SPOTS.

3. INSTALL OUTER DOWNSTREAM SNAP RING.

4. INSTALL ROTOR BEING SURE THE ARROW IS PROPERLY
ALIGNED, AND THE SHAFT SEATED IN THE VANE BUSHING.
5. INSTALL UPSTREAM INNER SNAP RING.

6. INSTALL UPSTREAM VANE, WITH NOTCHED VANE BLADE
BETWEEN WELD STAKE SPOTS. SPIN THE ROTOR TO ALLOW
SHAFT TO EASILY ENTER THE VANE BUSHING. DO NOT USE
FORCE TO PUSH THE VANE BEARING OVER THE ROTOR
SHAFT.

7. INSTALL UPSTREAM SNAP RING.

8. MAKE SURE THE ROTOR SPINS FREELY BEFORE INSTALLING
THE METER.

9. ATTACH PLASTIC CALIBRATION TAG AROUND THE
CONDUIT HUB AND CUT OFF EXCESS STRAP LENGTH FLUSH
WITH TAG.

10. INSTALL MAGNETIC PICKUP AS FOLLOWS: CLEAN PICKUP
HUB THREADS AND PICKUP THREADS AS NEEDED. SCREW IN
THE PICKUP BY HAND UNTIL IT BOTTOMS OUT, THEN BACK
OFF 1/4 TURN AND TIGHTEN LOCK NUT WITH 3/4" THIN
WALL SOCKET.

STAKE POINTS - TYP.

SNAP RING GROOVE - TYP.

UPSTREAM VANE
BUSHING

ROTOR & SHAFT

Website
www.eddevices.com

E-mail
rkw@eddevices.com

79768
USA



	Cover Page
	Copyright
	EDD Contact Information
	Flow Range Chart
	Pressure Drop Curves
	Standard Meter Repair Kits
	3/8" thru 3" Meter Repair Kit Installation Instructions
	4" & Up Meter Repair Kit Installation Instructions




